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2.7 Operations with Functions

e | You can add, subtract, multiply and divide functions together. You can also add, subtract, multiply or

divide outputs of functions.

Operations Notations . What to Do
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Suppose f(x) = 2x + 3 and g(x) = —4x% + 12 and h(x) = g. Find the following operations.

L. f(x) + g(x) 2. .Q’(x) f(x) 3. (h*g)(x)
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Note: These problems must be done without a calculator.



Sometimes, the problems have a number where x is and that means that they want you to add, subtract,
multiply, or divide the outputs of those functions for those values of x. You should evaluate each
function \g‘u‘st and then perform the operatigns with those outputs.

Stipiose FLE) =% + 1 a1d g(e) =—x+ 5 endRGe) =5
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e othcr s N
2 962) sz gzl | ez Sew
1S ﬁ-" | @

Use your calculator to check. ALPHA TRACE e for function shortcut. 3%,

Composition of Functions - 1'::( 2
This is the last operation where you put one function inside of another. |
Notations: g(fgx)) or (geof)(x) Say “goffofx”
Please know that order matters, so, 90% of the time g(f(x)) # f(g(x))
Suppose f(x) = x? and g(x) = 2x + 3
Find f(g(x)) & Find g(f(x))
£(2x43) = (2X+3) gx*) = 2x*+3
= (2X43)%43) g ipin)c 2xe
= %% X+ 6% +9
£(a()) = Yxt+i2X+9 _
Suppose f(x) = —x + 5 and g(x) = 3 — 2x
Find f(g(x)) Find g(f(x))

€(3-2x) = 'Té‘-‘}x) +5
2-3+2X+5

£(9 ) = 242X

:3-—@).

= 342X~
g(-f—(x))-:. 2%=1

§(-%+e)

Now with input values...

h ¢ . /1

Suppose f(;c) =2x+1 and g(x) = x? _
a) Find f(g(3)) " | b) Find g(f(-1)) 1) g(g(2) d) g(f(5))
9(2)= 3* £¢-1)=2¢-N+1 q@)=2* €(5) = 2(3) +1
=4 Te2tl st ? )
(/ L — -"‘ (-/
£(9) = 2(9) 41 \ 2 QE y2 qo =|1?
. 9(-1) = (-1) " ,
=19 e =10 = |21

Don't forget to check your answers with the calculator when you have input values.



